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for the questions

Answer either in English or in Assamese

1. Answer the following quéstions as directed :

x10=
wﬁmwwm@ﬁm 1x10=10
(a) Choose the correct answer
% Teth AR Serewn -
When aggregate economic activity is
increasing, the economy is said to.be in
o TSIz e TR 1% 5,
cofean sy ‘
(i) an expansion
STRPTR 9B
(i) a contraction
SO 9CB
(iii) a depression
oS =
(iv) None of the above
89{q YbI8 AW
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(b)

(c

(@

(e)
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(2)

Choose the correct answer :
wF TSB! ?@W@ :

A cause of inflation is
mﬁ-ﬂ IRV

() increase in money supply

IS TR @M=

(ii) increase in money supply and fall
in production

IEe @R A S1E T 2P

(iii) only for all of productionv
e BAMA 2 ‘

(iv) decrease in monéy supply and
increase in production

TR A e = IR 3«%

Write one important factor which is
responsible for demand-pull inflation.

vinefe @rRfeT 961 SFrey FRF AN
foram

What does IS and LM curve stand for?
IS 9IF LM 3312 & pm 2

Fill in the blank :
A i o7 790
MV+ MV’
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Ly

(9)

(h)
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(3)

What does a vertical IS curve mean?

mﬁm IS mfiﬁnzmv SR

Choose the correct answer :
% Teqchr AR Bferear -

The  simultaneous increase in
unemployment and prices is called
e W R G I’ @ SREROR
@y

K

(i) hyperinflation - -
Q@ﬂ%mﬁ IR
(i) stagﬂatmn o . o
. i
(iii),_’ c!eﬂationﬁ , '
i ,‘
(iv) None of the @above
o OIS T

Fill in the blank :

At 5% R 0 :

The LM curve shift to the nght when the
stock of the money supply is
@ @R @I =, C@m LM
@O G AR =W -

(Ium@ver)




(4)

(i}  Write Yes or No : .
| A o s

According to Fisher—“The increase in
money = supply always lead to. a

- proportional increase in general price
level”. )

WWW@WWWW
—mmmqwmqﬁm”

()  Choose the correct answer :

o7 Techl MR Bfre -

The: Recession phase of Trade cycle is
characterized with -

e v SR TR Nﬁﬁl

() low level of investment, ‘low level of
production and low level of
employment
R Rivana, ﬁa%ﬂﬂmwﬁaﬁmﬂ&

(i) high level of investment, high level
of production and high level of
employment ,
%ﬂsﬁﬁmﬂ,mmmwmﬁmﬂ
=

(@) high level of investment but low
level of production and employment
T R e fw Serm W B
ﬁt’m?ﬁ :
(iv) Nene of the above -
8] 9bre oy
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(5)

2. Answer the following questions : - ' -2x5=10
T fal epyRe s fi :
' (@) What are the phases of business cycle?

(b)

(c)

@ .

(e)

A9/860

e v&] IRE & [ 2

Write the basw differences between
demand pull and cost push inflations.

sﬁﬁmﬁT'WRsmmﬁ#‘gmﬁﬁ%aﬂwﬁcﬁﬁ@
mﬁml L _‘

In Fisherian versiori of quantity theory of
money, what does P, M V M’ and V’

‘stand for?

ﬁmﬁaqgﬁ*ﬁ$mmv-wr'P Al v MR
tﬂi%ﬁ@av
What are the factors that determme the

slope of thé IS curve?’
ISC?W{WQﬁWMﬁ?WFﬂ@F@?ﬁﬁ%?

_Give .two criticisms of Hicks multiplier

accelerator ' interaction theory of
business cycle.

Reew Afden v @ w19 Riem ogw o1
SRS SrEt ¥4 |
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(6) :

" 3.. Answer the, following questions : . .5x4=20

¢~

(a) Show how IS curve will change as a

result ‘of increase in" Govemment
Expenditure. © .- "7 -

WWWW‘ISWWW
=, Cﬁwl fo

Explam the factors that determme the
slope of the IS curve.

IS YR & e F9 FRPR T 0|

(b) Explain bneﬂy the deferent phases. of
. busmess cycle.

Or/ «gdl

Explam briefly the features of business
Cycles.

D S et e M 1 |

| ,(C) Will doubling of money supply always

lead tg o doubling of general pnce level?
Explain.

mwﬂmﬁ@qqmwmmqﬁw

mﬁ%‘?ﬁ]ﬂﬂ?ﬁn

A9/860 ( Continued )




(7)

(d) Write short notes on :
5 (ol o
(i) Dépression
ek
(i) Structural inflation

ST TErRS
4. Answer the following questions (any four) :
10x4=40
were i epTgRd Bes fRar (R et wifken) .

(@) Explain IS and LM curve. What is the
role of these two curves in simultaneous
determination of equilibrium rate of
interest and level of income?

IS W% LM 31 3 <91 | [ oF o
FareTe 22et Siter Ry Seee 241 |

(b) Discuss the features of IS and LM
curves. Is the equilibrium between IS
and LM curves always stable? Explain.

IS 9F LM @[ (IMBIRR Scams= 941 | IS
e LM QIR S SR B w2 arn
M1

(c) “Fisher’s Equation of exchange is a
useless truism.” Do you agree? Explain.

“PeW IO @51 FRYE Fo:bE w17
RPN (oIE WS FAOIA ? IRM FT |
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(8)

(d) Explain critically the cash balance
approach to quantity theory of money.
@R qM EN '\'Wc%ﬁ\, SRCEACARETE BT
EX 1l

(e) Explain the impact of inflation on
production and distribution.

oo wF Ream @WW LS
R :

() What is cost-push inflation? How can it
be controlled?
WS THR I A WE @A
ezt #fiw ik 2 :

(@) What are the assumptions of Hicks
multiplier accelerator interaction theory
of business cycle? How did. he explained
the upswing of business cycle with it?
&1 (Hicks) 9@ a9 = e Riden
SYOR SRR 7 Rws (Hicks) €%
SYCOR SRS M 5E %'éen% Y (AT
o0 Fffe

(h)  “Change in the flow of money is the sole
and sufficient cause of changes in
€conomic activity.” Explain.

‘T oRrzT RIS ARARE I FTE RS
GG HIF Seqron FEG 17" 9 F0 1.

%* k% .
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